

Office of the City Clerk

City Hall 121 N. LaSalle St. Room 107 Chicago, IL 60602 www.chicityclerk.com

Legislation Text

File #: O2013-2067, Version: 1

ORDINANCE HOTEL
PALOMAR Acct. No. 229993 5 Permit No. 1104588

Be It Ordained by the City Council of the City of Chicago:

SECTION 1. Permission and authority are hereby given and granted to HOTEL PALOMAR, upon the terms and subject to the conditions of this ordinance to maintain and use, as now constructed, twelve (12) Caisson(s) under the public right-of-way adjacent to its premises known as 505 N. State St..

Said Caisson(s) at S. State measure(s):

One (1) at five point eight six (5.86) feet in length, and one point four one (1.41) foot in width for a total of eight point two six (8.26) square feet.

Said Caisson(s) at S. State measure(s):

One (1) at five point five (5.5) feet in length, and one point five (1.5) foot in width for a total of eight point two five (8.25) square feet.

Said Caisson(s) at E. Illinois measure(s):

One (1) at five point six six (5.66) feet in length, and one point five (1.5) foot in width for a total of eight point four nine (8.49) square feet.

Said Caisson(s) at E. Illinois measure(s):

One (1) at eight point five eight (8.58) feet in length, and two point five (2.5) feet in width for a total of twenty-one point four five (21.45) square feet.

Said Caisson(s) at E. Illinois measure(s):

One (1) at eight point five eight (8.58) feet in length, and two (2) feet in width for a total of seventeen point one six (17.16) square feet.

Said Caisson(s) at E. Illinois measure(s):

One (1) at eight (8) feet in length, and two (2) feet in width for a total of sixteen (16) square feet. Said

Caisson(s) at E. Illinois measure(s):

One (1) at eight (8) feet in length, and two (2) feet in width for a total of sixteen (16) square feet. Said

Caisson(s) at E. Illinois measure(s):

One (1) at seven point eight three (7.83) feet in length, and one point nine one (1.91) foot in width for a total of fourteen point nine six (14.96) square feet.

Said Caisson(s) at E. Illinois measure(s):

One (1) at two point five (2.5) feet in length, and point two five (.25) feet in width for a total of point six three (.63) square feet.

Said Caisson(s) at E. Illinois measure(s):

One (1) atone point five (1.5) foot in length, and point zero eight (.08) feet in width for a total of point one two (.12) square feet.

File #: O2013-2067, Version: 1

Said Caisson(s) at E. Illinois measure(s):

One (1) at two point five (2.5) feet in length, and point two five (.25) feet in width for a total of point six three (.63) square feet.

Said Caisson(s) at E. Illinois measure(s):

One (1) at five (5) feet in length, and one point four one (1.41) foot in width for a total of seven point zero five (7.05) square feet.

Page 1

The location of said privilege shall be as shown on prints kept on file with the Department of Business Affairs and Consumer Protection and the Office of the City Clerk.

Said privilege shall be constructed in accordance with plans and specifications approved by the Department of Planning and Development and Department of Transportation (Office of Underground Coordination).

This grant of privilege in the public way shall be subject to the provisions of Section 10-28-015 and all other required provisions of the Municipal Code of Chicago.

The grantee shall pay to the City of Chicago as compensation for the privilege #1104588 herein granted the sum of four hundred (\$400.00) per annum in advance.

A 25% penalty will be added for payments received after due date.

The permit holder agrees to hold the City of Chicago harmless for any damage, relocation or replacement costs associated with damage, relocation or removal of private property caused by the City performing work in the public way. Page 2

Authority herein given and granted for a period of five (5) years from and after 09/27/2012.

NKAL ANO LEKOI LLC

lfl»r>trf)i1 .i i l l

iLfIIHJS^ *I;If *:

MARX	WOTH	(ALONG PROF	,	ARSAfJA,	DEPTHTo » CAISSON	FftOMTAOE
Α		LNE)	TJr	s.W		STATE STRIIfsT
n	vjt ?		r-r , _i		•tr-ar	stats sTReer
SUBTOTAL• STATE 3TRE6	т	IV-**				
В	r-er	5-T	7MT	6.77	W'	IUNOS CTW5ST
С	Z-i-	sr	ier«0			ILL»N!B8TREET
0	t-f		1V-0*	1K.J0		
E	z-r'	tr-*'	tr-o-	iTja		ILLKoe STREET
F	r-*-					ilwob sneer
а	r.ir			i4.«		

File #: O2013-2067, Version: 1

ri	tr-j ⁻ -	Z-V	tnt		•fls'-tr	
1	<7- "	V-V		o.oa	∎iWr	J.LTWS SWEET
J	tJ'	rv	nr.o-	O.M	∎as'-o-	
subtotal. o-uwoo sTuerr		5T-C"		•MI		
TOTAL AK6A				1*1.38		

B3WD '0" «mct>0K 10 urt

W.U.07

OVERALL CAJSSON-MAN